

TAUBERIAN THEOREMS FOR THE WEIGHTED MEANS OF MEASURABLE FUNCTIONS OF SEVERAL VARIABLES

Chang-Pao Chen and Chi-Tung Chang

Abstract. Let $f, \omega : \mathbb{R}_+^n \rightarrow \mathbb{C}$ and $T_\omega f(x)$ denote the weighted mean of f at x with respect to the weight function ω . We prove that the conditions of slow oscillation and slow decrease are Tauberian conditions for the implications: $f(x) \xrightarrow{st} l \implies f(x) \rightarrow l$ and $T_\omega f(x) \xrightarrow{st} l \implies f(x) \rightarrow l$. We also prove that the statistical version of the conditions of deferred means are Tauberian conditions for the implication: $T_\omega f(x) \xrightarrow{st} l \implies f(x) \xrightarrow{st} l$. These generalize several well-known results.

1. INTRODUCTION

Let $\mathbb{R}_+ = [0, \infty)$ and $f, \omega : \mathbb{R}_+^n \rightarrow \mathbb{C}$ be Lebesgue measurable. Suppose $W(x) = \int_{[0, x_1] \times \dots \times [0, x_n]} \omega(y) dy \neq 0$ for each $x = (x_1, \dots, x_n) > \mathbf{0} = (0, \dots, 0)$. Here $x > \mathbf{0}$ means that $x_k > 0$ for all k . The weighted mean $T_\omega f(x)$ of f at x is defined by

$$T_\omega f(x) = W(x)^{-1} \int_{[0, x_1] \times \dots \times [0, x_n]} f(y) \omega(y) dy.$$

We say that f is (\overline{N}, ω) summable to l at ∞ and write $f(x) \rightarrow l (\overline{N}, \omega)$ if $T_\omega f(x) \rightarrow l$ in the sense of Pringsheim, that is, $T_\omega f(x) \rightarrow l$ as $x \rightarrow \infty$. Here “ $x \rightarrow \infty$ ” means “ $\min(x_1, \dots, x_n) \rightarrow \infty$ ”. The notion of (\overline{N}, ω) summability defined here is the integral analogue of the one given in [8, p.57]. Following [13], we say that $f(x)$ is statistically convergent to l at ∞ , in symbols, $f(x) \xrightarrow{st} l$ or $st\text{-}\lim_{x \rightarrow \infty} f(x) = l$, if the following equality holds for all $\epsilon > 0$:

Received June 12, 2009, accepted April 23, 2010.

Communicated by Yuh-Jia Lee.

2000 *Mathematics Subject Classification*: Primary 40A30, 40E05, 40G99.

Key words and phrases: Tauberian theorems, Weighted means, Statistical convergence.

This work is supported by the National Science Council, Taipei, ROC, under Grant NSC 96-2115-M-364-003-MY3.

$$\lim_{x \rightarrow \infty} \frac{1}{x_1 \cdots x_n} \left| \left\{ u : \mathbf{0} \leq u \leq x, |f(u) - l| \geq \epsilon \right\} \right| = 0.$$

Here $|E|$ denotes the Lebesgue measure of $E \subset \mathbb{R}_+^n$ and $\mathbf{0} \leq u \leq x$ means that $0 \leq u_k \leq x_k$ for all k . We write $f(x) \xrightarrow{st} l(\overline{N}, \omega)$ if $T_\omega f(x) \xrightarrow{st} l$. The readers can easily prove that the ordinary convergence implies the corresponding statistical convergence. For $n = 1$ and $W(x) \rightarrow \infty$ as $x \rightarrow \infty$, ones can also deduce

$$(1.1) \quad f(x) \rightarrow l \implies f(x) \rightarrow l(\overline{N}, \omega) \implies f(x) \xrightarrow{st} l(\overline{N}, \omega).$$

But the converse implications of (1.1) are false, in general.

The purpose of this paper is to investigate the following converse implication:

$$(1.2) \quad f(x) \xrightarrow{st} l(\overline{N}, \omega) \implies f(x) \rightarrow l.$$

We try to find conditions under which (1.2) holds. These conditions are known as Tauberian conditions and the corresponding results are called Tauberian results. Such kind of problems have been investigated in the literature for a long time (cf. e.g., [5, 6, 8, 12, 14, 15] for $n = 1$, and [9] for $n = 2$). In particular, in [9], Móricz investigated the variant of (1.2) with $f(x) \rightarrow l(\overline{N}, \omega)$ instead of $f(x) \xrightarrow{st} l(\overline{N}, \omega)$ for the case that $\omega = 1$ and $n = 2$. He proved that (1.3) is a Tauberian condition for this implication:

$$(1.3) \quad \inf_{\rho > 1} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{\substack{x_k < u_k < \rho x_k \\ u_\ell = x_\ell \text{ for } \ell \neq k}} |f(u) - f(x)| \right) \right\} = 0 \quad (k = 1, \dots, n).$$

Here the limit superior “ $\limsup_{x \rightarrow \infty}$ ” is defined in [2, p.1243] and [4, p.632]. Condition (1.3) is the n -dimensional analogue of the condition of slow oscillation. In [14], Móricz also showed that (1.3) is a Tauberian condition for (1.2), whenever $n = 1$ and $\omega = 1$. However, it is unknown whether (1.3) is a Tauberian condition of (1.2) for $n \geq 2$ and general ω . This problem for the discrete case was posed by Móricz [10] and solved by the present authors in [2]. In this paper, we shall prove that the following weak form of (1.3) is a Tauberian condition of (1.2):

$$(1.4) \quad \inf_{\rho > 1} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{x < u < \rho x} |f(u) - f(x)| \right) \right\} = 0$$

(see Corollary 6.1). For real-valued f , a similar result is also established (see Corollary 6.4). Our results not only extend [9, 14, 15] from $\omega = 1$ to general ω , and [5, 6, 12, 14, 15] from 1-dimensional case to n -dimensional case, but also relax the (\overline{N}, ω) summability to its statistical version.

In order to derive Corollaries 6.1 and 6.4, we first deduce in §2 the convergence property of subsequence type from $f(x) \xrightarrow{st} l$ and check the convergence of deferred

means from $f(x) \xrightarrow{st} l (\overline{N}, \omega)$. We indicate that the subsequences involved here must be restricted. Next, we investigate the Tauberian problem of the implication: $f(x) \xrightarrow{st} l \implies f(x) \rightarrow l$ (see §3). In §4, we present two Tauberian results for the implication: $f(x) \xrightarrow{st} l (\overline{N}, \omega) \implies f(x) \xrightarrow{st} l$ (see Theorems 4.1 & 4.2). Based on the above results, we present the Tauberian conditions for the implication: $f(x) \xrightarrow{st} l (\overline{N}, \omega) \implies f(x) \rightarrow l$ (see Theorems 5.1 & 5.2). As a consequence, several special cases of the last two theorems are deduced, which include Corollaries 6.1 and 6.4. We refer the readers to §6 for details.

Throughout this paper, $\mathbf{0} = (0, \dots, 0)$, $\mathbf{1} = (1, \dots, 1)$, $x, y, u, \mathbf{a}, \mathbf{b}, \alpha, \beta, \gamma, \dots$ will denote the points in \mathbb{R}_+^n , $s, t, \rho, \dots \in \mathbb{R}$, and λ, ω, \dots are functions defined on \mathbb{R}_+^n . For $\alpha = (\alpha_1, \alpha_2, \dots, \alpha_n) \in \{0, 1\}^n$, let $|\alpha| = |\alpha_1| + |\alpha_2| + \dots + |\alpha_n|$.

2. PRELIMINARIES

In this paper, we write $\lambda \in \mathcal{S}_I$ if $\lambda : \mathbb{R}_+^n \mapsto \mathbb{R}^n$ is of the form $\lambda(x) = (\lambda_1(x_1), \dots, \lambda_n(x_n))$ and each $\lambda_k : [0, \infty) \rightarrow [0, \infty)$ is strictly increasing, $\lambda_k(0) = 0$, and $\lim_{t \rightarrow \infty} \lambda_k(t) = \infty$. Without loss of generality, we shall further assume that each λ_k is piecewise smooth. More precisely, for each k , there exist countably many ℓ and a disjoint decomposition of subintervals of $[0, \infty)$, say $\cup_\ell [a_\ell, b_\ell)$, so that λ_k is C^1 on $[a_\ell, b_\ell]$ for each ℓ .

The following is an integral analogue of [1, Lemma 2.3]. It examines the convergence problem of subsequence type from the statistical convergence of a given function, and will be used to derive the convergence of deferred means from the (\overline{N}, ω) summability (see Theorem 2.3).

Theorem 2.1. *Let $f(x) \xrightarrow{st} l$ and $\lambda \in \mathcal{S}_I$. Suppose that (2.1) holds for all k :*

$$(2.1) \quad \lambda_k(t) \leq Mt \quad (t \geq t_0) \quad \text{and} \quad \lambda'_k(t) \geq m \quad (\text{almost all } t > 0),$$

where $M > 0$, $t_0 > 0$, and $m > 0$ are constants. Then $f(\lambda_1^{\beta_1}(x_1), \dots, \lambda_n^{\beta_n}(x_n)) \xrightarrow{st} l$ for all $\mathbf{0} \leq \beta \leq \mathbf{1}$, where

$$(2.2) \quad \lambda_k^\ell(t) = \begin{cases} t & \text{for } \ell = 0, \\ \lambda_k(t) & \text{for } \ell = 1. \end{cases}$$

Proof. It suffices to prove the case $\beta = \mathbf{1}$. Let $\epsilon > 0$ and $\mathbf{a} > \mathbf{0}$. Set $E^* = \lambda(E)$, where

$$E = \{x : \mathbf{0} \leq x \leq \mathbf{a}, |f(\lambda_1(x_1), \dots, \lambda_n(x_n)) - l| \geq \epsilon\}.$$

The Jacobian of the mapping $x \mapsto \lambda(x)$ is $\lambda'_1(x_1) \cdots \lambda'_n(x_n)$, so by the second condition in (2.1) and [17, Theorem 7.26],

$$|E^*| = \int_{\lambda(E)} dy = \int_E |J_\lambda(x)| dx \geq m^n \int_E dx = m^n |E|.$$

Putting this with the first condition in (2.1) together yields

$$\begin{aligned} \frac{1}{a_1 \cdots a_n} |E| &\leq \left(\frac{M}{m}\right)^n \frac{1}{\lambda_1(a_1) \cdots \lambda_n(a_n)} |E^*| \\ &= \left(\frac{M}{m}\right)^n \frac{1}{\lambda_1(a_1) \cdots \lambda_n(a_n)} |\{y : \mathbf{0} \leq y \leq \lambda(\mathbf{a}), |f(y) - l| \geq \epsilon\}| \\ &\longrightarrow 0 \text{ as } \min(a_1, \dots, a_n) \rightarrow \infty. \end{aligned}$$

Hence, $f(\lambda_1(x_1), \dots, \lambda_n(x_n)) \xrightarrow{st} l$. ■

Theorem 2.1 is false if any of the two conditions in (2.1) is removed. Consider the functions $f : [0, \infty) \rightarrow [0, 1]$ and $\lambda : [0, \infty) \rightarrow [0, \infty)$, defined by the rules:

$$f(x) = \begin{cases} 0 & \text{if } x \in [k + \phi(k), k + \phi(k + 1)] \text{ for some } k \in \mathbb{N} \cup \{0\}, \\ 1 & \text{otherwise} \end{cases}$$

and

$$\lambda(t) = \begin{cases} k + \phi(k) & \text{for } t = 2k \text{ with } k \in \mathbb{N} \cup \{0\}, \\ k + \phi(k + 1) & \text{for } t = 2k + 1 \text{ with } k \in \mathbb{N} \cup \{0\}, \end{cases}$$

where $\phi(k) \uparrow$, $\phi(0) = 0$, and λ is linear on each subinterval. Whenever $k + \phi(k) \leq a < k + 1 + \phi(k + 1)$, we have

$$\sum_{\ell=0}^{k-1} (\phi(\ell + 1) - \phi(\ell)) \leq |\{0 \leq x \leq a : f(x) = 0\}| \leq \sum_{\ell=0}^k (\phi(\ell + 1) - \phi(\ell))$$

and $k \leq |\{0 \leq x \leq a : f(x) = 1\}| \leq k + 1$. These imply

$$f(x) \xrightarrow{st} \begin{cases} 0 & \text{if } \phi(k)/k \rightarrow \infty, \\ 1 & \text{if } \phi(k)/k \rightarrow 0. \end{cases}$$

On the other hand, $st\text{-}\lim_{t \rightarrow \infty} f(\lambda(t))$ does not exist. Moreover, $\lambda \in \mathcal{S}_I$. For $\phi(k) = \sum_{\ell=0}^k \ell^2$, the first condition in (2.1) fails, but the second one holds. We get another case, if $\phi(0) = 0$ and $\phi(k) = \sum_{\ell=1}^k 1/\ell^2$ for $k = 1, 2, \dots$. These two examples indicate that both conditions in (2.1) are required in Theorem 2.1.

Next, we consider the convergence problem of deferred means. For this purpose, we introduce an equality in the following.

Lemma 2.2. For $x_\alpha, y_\alpha \in \mathbb{C}$, where $0 \leq \alpha \leq 1$, we have

$$(2.3) \quad \sum_{0 \leq \alpha \leq 1} (-1)^{|\alpha|} x_\alpha y_\alpha = \sum_{0 \leq \alpha \leq 1} \left(\sum_{\alpha \leq \beta \leq 1} (-1)^{|\alpha|+|\beta|} x_\beta \right) \left(\sum_{0 \leq \gamma \leq \alpha} (-1)^{|\gamma|} y_\gamma \right).$$

Proof. We prove (2.3) by the mathematical induction. For $a_0, a_1, b_0, b_1 \in \mathbb{C}$, it is trivial that $a_0 b_0 - a_1 b_1 = (a_0 - a_1) b_0 + a_1 (b_0 - b_1)$. In particular,

$$\sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} (a_0^{\tilde{\alpha}} b_0^{\tilde{\alpha}} - a_1^{\tilde{\alpha}} b_1^{\tilde{\alpha}}) = \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} [(a_0^{\tilde{\alpha}} - a_1^{\tilde{\alpha}}) b_0^{\tilde{\alpha}} + a_1^{\tilde{\alpha}} (b_0^{\tilde{\alpha}} - b_1^{\tilde{\alpha}})],$$

where

$$\begin{aligned} a_0^{\tilde{\alpha}} &= \sum_{\tilde{\alpha} \leq \tilde{\beta} \leq \tilde{1}} (-1)^{|\tilde{\alpha}|+|\tilde{\beta}|} x_{(\tilde{\beta},0)}, & b_0^{\tilde{\alpha}} &= \sum_{\tilde{0} \leq \tilde{\gamma} \leq \tilde{\alpha}} (-1)^{|\tilde{\gamma}|} y_{(\tilde{\gamma},0)}, \\ a_1^{\tilde{\alpha}} &= \sum_{\tilde{\alpha} \leq \tilde{\beta} \leq \tilde{1}} (-1)^{|\tilde{\alpha}|+|\tilde{\beta}|} x_{(\tilde{\beta},1)}, & b_1^{\tilde{\alpha}} &= \sum_{\tilde{0} \leq \tilde{\gamma} \leq \tilde{\alpha}} (-1)^{|\tilde{\gamma}|} y_{(\tilde{\gamma},1)}, \end{aligned}$$

and $\tilde{\xi} \in \mathbb{C}^{n-1}$ is obtained from $\xi \in \mathbb{C}^n$ by deleting the last coordinate. Suppose that (2.3) holds for the case $n - 1$. Then

$$\begin{aligned} \sum_{0 \leq \alpha \leq 1} (-1)^{|\alpha|} x_\alpha y_\alpha &= \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} (-1)^{|\tilde{\alpha}|} x_{(\tilde{\alpha},0)} y_{(\tilde{\alpha},0)} - \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} (-1)^{|\tilde{\alpha}|} x_{(\tilde{\alpha},1)} y_{(\tilde{\alpha},1)} \\ &= \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} \left(\sum_{\tilde{\alpha} \leq \tilde{\beta} \leq \tilde{1}} (-1)^{|\tilde{\alpha}|+|\tilde{\beta}|} x_{(\tilde{\beta},0)} \right) \left(\sum_{\tilde{0} \leq \tilde{\gamma} \leq \tilde{\alpha}} (-1)^{|\tilde{\gamma}|} y_{(\tilde{\gamma},0)} \right) \\ &\quad - \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} \left(\sum_{\tilde{\alpha} \leq \tilde{\beta} \leq \tilde{1}} (-1)^{|\tilde{\alpha}|+|\tilde{\beta}|} x_{(\tilde{\beta},1)} \right) \left(\sum_{\tilde{0} \leq \tilde{\gamma} \leq \tilde{\alpha}} (-1)^{|\tilde{\gamma}|} y_{(\tilde{\gamma},1)} \right) \\ &= \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} (a_0^{\tilde{\alpha}} b_0^{\tilde{\alpha}} - a_1^{\tilde{\alpha}} b_1^{\tilde{\alpha}}) = \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} [(a_0^{\tilde{\alpha}} - a_1^{\tilde{\alpha}}) b_0^{\tilde{\alpha}} + a_1^{\tilde{\alpha}} (b_0^{\tilde{\alpha}} - b_1^{\tilde{\alpha}})]. \end{aligned}$$

On the other hand,

$$\begin{aligned} &\sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} [(a_0^{\tilde{\alpha}} - a_1^{\tilde{\alpha}}) b_0^{\tilde{\alpha}} + a_1^{\tilde{\alpha}} (b_0^{\tilde{\alpha}} - b_1^{\tilde{\alpha}})] \\ &= \sum_{\tilde{0} \leq \tilde{\alpha} \leq \tilde{1}} \left\{ \left[\sum_{\tilde{\alpha} \leq \tilde{\beta} \leq \tilde{1}} \left((-1)^{|\tilde{\alpha}|+|\tilde{\beta}|} x_{(\tilde{\beta},0)} - (-1)^{|\tilde{\alpha}|+|\tilde{\beta}|} x_{(\tilde{\beta},1)} \right) \right] \left[\sum_{\tilde{0} \leq \tilde{\gamma} \leq \tilde{\alpha}} (-1)^{|\tilde{\gamma}|} y_{(\tilde{\gamma},0)} \right] \right\} \end{aligned}$$

$$\begin{aligned}
& + \left[\sum_{\tilde{\alpha} \leq \tilde{\beta} \leq \tilde{\mathbf{1}}} (-1)^{|\tilde{\alpha}|+|\tilde{\beta}|} x_{(\tilde{\beta},1)} \right] \left[\sum_{\tilde{\mathbf{0}} \leq \tilde{\gamma} \leq \tilde{\alpha}} \left((-1)^{|\tilde{\gamma}|} y_{(\tilde{\gamma},0)} - (-1)^{|\tilde{\gamma}|} y_{(\tilde{\gamma},1)} \right) \right] \Big\} \\
& = \sum_{\mathbf{0} \leq \alpha \leq \mathbf{1}} \left(\sum_{\alpha \leq \beta \leq \mathbf{1}} (-1)^{|\alpha|+|\beta|} x_{\beta} \right) \left(\sum_{\mathbf{0} \leq \gamma \leq \alpha} (-1)^{|\gamma|} y_{\gamma} \right).
\end{aligned}$$

This shows that (2.3) holds for the case n . The proof is complete. \blacksquare

Denote by D_+^n (respectively D_-^n) the class consisting of all $\lambda \in \mathcal{S}_I$ so that each λ_k dilates at infinity in the sense of (2.4) (respectively (2.4*)):

$$(2.4) \quad \liminf_{t \rightarrow \infty} \frac{\lambda_k(t)}{t} > 1 \quad (k = 1, \dots, n),$$

$$(2.4^*) \quad \liminf_{t \rightarrow \infty} \frac{t}{\lambda_k(t)} > 1 \quad (k = 1, \dots, n).$$

For a fixed $\alpha = (\alpha_1, \dots, \alpha_n) \in \{0, 1\}^n$, $\lambda \in D_+^n$, and a weight $\omega : \mathbb{R}_+^n \rightarrow \mathbb{C}$, define

$$(2.5) \quad \Delta_{\lambda}^{\alpha} W(x) = \int_{E_1 \times \dots \times E_n} \omega(y) dy,$$

where

$$(2.6) \quad E_k = \begin{cases} [0, x_k] & \text{if } \alpha_k = 0, \\ [x_k, \lambda_k(x_k)] & \text{if } \alpha_k = 1. \end{cases}$$

If $\lambda \in D_-^n$, (2.6) will be changed to (2.6*):

$$(2.6^*) \quad E_k = \begin{cases} [0, \lambda_k(x_k)] & \text{if } \alpha_k = 0, \\ [\lambda_k(x_k), x_k] & \text{if } \alpha_k = 1. \end{cases}$$

Consider the subclass $st-D_+^n(\omega)$ of D_+^n and the subclass $st-D_-^n(\omega)$ of D_-^n . We write $\lambda \in st-D_+^n(\omega)$ (respectively $\lambda \in st-D_-^n(\omega)$) if $\lambda \in D_+^n$ (respectively $\lambda \in D_-^n$) and both of (2.1) and (2.7) hold:

$$(2.7) \quad st\text{-}\limsup_{x \rightarrow \infty} \left| \frac{\Delta_{\lambda}^{\alpha} W(x)}{\Delta_{\lambda}^{\mathbf{1}} W(x)} \right| < \infty \text{ for each } \mathbf{0} \leq \alpha \leq \mathbf{1}.$$

Here $st\text{-}\limsup_{x \rightarrow \infty} \phi(x)$ is defined as the supremum of those r satisfying

$$\lim_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 \cdots a_n} |\{u : \mathbf{0} \leq u \leq \mathbf{a}, \phi(u) > r\}| \neq 0$$

(cf. [7, 11]). For $\lambda \in D_+^n$, we have $W(\lambda(x)) = \sum_{\mathbf{0} \leq \alpha \leq \mathbf{1}} \Delta_\lambda^\alpha W(x)$. Thus, for such λ and positive ω , (2.7) can be replaced by the following equivalent condition:

$$(2.7^*) \quad st\text{-}\limsup_{x \rightarrow \infty} \frac{W(\lambda(x))}{\Delta_\lambda^{\mathbf{1}} W(x)} < \infty.$$

Obviously, (2.7*) is the statistical version of the integral form of [16, Eq.(2.8)]. Hence, $st\text{-}D_+^n(\omega)$ can be regarded as a substitute of Λ_u given in [16]. Analogously, for $\lambda \in D_-^n$ and positive ω , (2.7) is equivalent to (2.7**):

$$(2.7^{**}) \quad st\text{-}\limsup_{x \rightarrow \infty} \frac{W(x)}{\Delta_\lambda^{\mathbf{1}} W(x)} < \infty,$$

which is the statistical version of the integral form of [16, Eq.(2.9)]. This indicates that $st\text{-}D_-^n(\omega)$ is a substitute of Λ_ℓ defined in [16]. From §6, we shall see

$$st\text{-}D_+^n(\omega) \supseteq \{\lambda_\rho : \rho > 1\} \quad \text{and} \quad st\text{-}D_-^n(\omega) \supseteq \{\lambda_\rho : 0 < \rho < 1\},$$

where $\omega \in st\text{-}SVA$ and λ_ρ denotes the mapping $x \mapsto \rho x$ (see §6 for details).

The following theorem shows the convergence property of deferred means obtained from the (\overline{N}, ω) summability. This result is an integral analogue of [1, Theorem 3.1]. It plays an important role in the proofs of Theorems 4.1 and 4.2.

Theorem 2.3. *Let $f(x) \xrightarrow{st} l$ (\overline{N}, ω) . Then for each $\lambda \in st\text{-}D_+^n(\omega)$,*

$$(2.8) \quad \left(\Delta_\lambda^{\mathbf{1}} W(x) \right)^{-1} \int_{[x_1, \lambda_1(x_1)] \times \cdots \times [x_n, \lambda_n(x_n)]} f(y) \omega(y) dy \xrightarrow{st} l,$$

and for each $\lambda \in st\text{-}D_-^n(\omega)$,

$$(2.8^*) \quad \left(\Delta_\lambda^{\mathbf{1}} W(x) \right)^{-1} \int_{[\lambda_1(x_1), x_1] \times \cdots \times [\lambda_n(x_n), x_n]} f(y) \omega(y) dy \xrightarrow{st} l.$$

Proof. We suppose $\lambda \in st\text{-}D_+^n(\omega)$ and the proof for $\lambda \in st\text{-}D_-^n(\omega)$ will be carried out in a similar way. For each $\mathbf{0} \leq \alpha \leq \mathbf{1}$, let $x_\alpha = W(\lambda_1^{1-\alpha_1}(x_1), \dots, \lambda_n^{1-\alpha_n}(x_n))$ and $y_\alpha = T_\omega f(\lambda_1^{1-\alpha_1}(x_1), \dots, \lambda_n^{1-\alpha_n}(x_n))$, where λ_k^ℓ is defined by (2.2). Then the left side of (2.3) becomes $\int_{[x_1, \lambda_1(x_1)] \times \cdots \times [x_n, \lambda_n(x_n)]} f(y) \omega(y) dy$. On the other hand, the readers can prove that $\sum_{\alpha \leq \beta \leq \mathbf{1}} (-1)^{|\alpha|+|\beta|} x_\beta = \Delta_\lambda^{1-\alpha} W(x)$. From

(2.3), we obtain

$$\begin{aligned} & \left(\Delta_{\lambda}^{\mathbf{1}} W(x) \right)^{-1} \int_{[x_1, \lambda_1(x_1)] \times \cdots \times [x_n, \lambda_n(x_n)]} f(y) \omega(y) dy \\ &= \sum_{\mathbf{0} \leq \alpha \leq \mathbf{1}} \left(\frac{\Delta_{\lambda}^{\mathbf{1}-\alpha} W(x)}{\Delta_{\lambda}^{\mathbf{1}} W(x)} \right) \left(\sum_{\mathbf{0} \leq \gamma \leq \alpha} (-1)^{|\gamma|} T_{\omega} f(\lambda_1^{1-\gamma_1}(x_1), \dots, \lambda_n^{1-\gamma_n}(x_n)) \right) \\ &= T_{\omega} f(\lambda_1(x_1), \dots, \lambda_n(x_n)) + \sum_{\alpha \neq \mathbf{0}} \left\{ \cdots \right\}, \text{ say.} \end{aligned}$$

For $\alpha \neq \mathbf{0}$, the term “ $\sum_{\mathbf{0} \leq \gamma \leq \alpha} (\cdots)$ ” in (2.9) tends to 0 statistically as $\min(x_1, \dots, x_n) \rightarrow \infty$. This can be proved by using Theorem 2.1 and the linearity of the statistical convergence. From (2.9), we get (2.8). This finishes the proof. ■

3. TAUBERIAN CONDITIONS FROM $f(x) \xrightarrow{st} l$ TO $f(x) \rightarrow l$

The following gives a Tauberian result from $f(x) \xrightarrow{st} l$ to $f(x) \rightarrow l$ and generalizes [14, Theorem 2].

Theorem 3.1. *Let $f(x) \xrightarrow{st} l$. If (3.1) or (3.1*) holds, then $f(x) \rightarrow l$, where*

$$(3.1) \quad \inf_{\lambda \in D_+^n} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{x < u < \lambda(x)} |f(u) - f(x)| \right) \right\} = 0,$$

$$(3.1^*) \quad \inf_{\lambda \in D_-^n} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{\lambda(x) < u < x} |f(x) - f(u)| \right) \right\} = 0.$$

Proof. We adopt the same proof of [2, Theorem 2.1]. It is easy to see that $\lambda \in D_+^n \iff \lambda^{-1} \in D_-^n$, where λ^{-1} denotes the inverse function of λ . This indicates that (3.1) \iff (3.1*). Hence, it suffices to prove the case of (3.1). Let $\epsilon > 0$. By (3.1), we can find $\lambda \in D_+^n$ and $N_1 > 0$ such that

$$(3.2) \quad \min(x_1, \dots, x_n) \geq N_1 \implies \sup_{x < u < \lambda(x)} |f(u) - f(x)| < \epsilon.$$

We have assumed that $f(x) \xrightarrow{st} l$. Thus, there exists $N_2 > 0$ so that for $\min(a_1, \dots, a_n) \geq N_2$,

$$(3.3) \quad \frac{1}{a_1 \cdots a_n} \left| \left\{ u : \mathbf{0} \leq u \leq \mathbf{a}, |f(u) - l| \geq \epsilon \right\} \right| < \left(1 - \frac{1}{K} \right)^n,$$

where

$$K = \min\left(\inf_{t \geq t_0} \frac{\lambda_1(t)}{t}, \dots, \inf_{t \geq t_0} \frac{\lambda_n(t)}{t}\right) > 1 \text{ for some } t_0 > 0.$$

Set $N_0 = \max(N_1, N_2, t_0)$. For $\min(x_1, \dots, x_n) \geq N_0$, we have $\min(\lambda_1(x_1), \dots, \lambda_n(x_n)) \geq N_2$, and so (3.3) tells us that

$$\begin{aligned} \left| \left\{ u : \mathbf{0} \leq u \leq \lambda(x), |f(u) - l| \geq \epsilon \right\} \right| &< \left\{ \prod_{k=1}^n \left(1 - \frac{x_k}{\lambda_k(x_k)} \right) \right\} \left(\prod_{k=1}^n \lambda_k(x_k) \right) \\ &= \prod_{k=1}^n \left(\lambda_k(x_k) - x_k \right). \end{aligned}$$

This enables us to find $u^* = (u_1^*, \dots, u_n^*)$ with the properties: $x < u^* < \lambda(x)$ and $|f(u^*) - l| < \epsilon$. Putting this with (3.2) together yields

$$|f(x) - l| \leq |f(u^*) - l| + \sup_{x < u < \lambda(x)} |f(u) - f(x)| < 2\epsilon. \quad \blacksquare$$

Theorem 3.1 is an integral analogue of [2, Theorem 2.1]. We know that $\lambda(x) = \rho x$ with $\rho > 1$ is in D_+^n , so (3.1) can be replaced by (1.4). We indicate that the λ in (3.1) can not be relaxed to those of the form $\lambda(x) = (\lambda_1(x_1), \dots, \lambda_n(x_n))$ with the property:

$$\liminf_{t \rightarrow \infty} \frac{\lambda_k(t)}{t} = 1 \quad (k = 1, \dots, n).$$

This is illustrated by the functions $f : [0, \infty) \rightarrow [0, 1]$ and $\lambda : [0, \infty) \rightarrow [0, \infty)$, defined in the following way:

$$f(x) = \begin{cases} 0 & \text{if } x = 0 \text{ or } x = n \text{ or } x = n + \frac{1}{n^2} \text{ for some } n \in \mathbb{N}, \\ 1 & \text{if } x = n + \frac{1}{2n^2} \text{ for some } n \in \mathbb{N}, \end{cases}$$

f is linear on each subinterval, and

$$\lambda(t) = \begin{cases} \frac{17}{16}t & \text{if } t \in [0, 2), \\ t + \frac{1}{t^3} & \text{if } t \in [2, \infty). \end{cases}$$

In this case, $f(x) \xrightarrow{st} 0$, $f(x) \not\rightarrow 0$, $\liminf_{t \rightarrow \infty} \frac{\lambda(t)}{t} = 1$, and $\sup_{x < u < x + \frac{1}{x^3}} |f(u) - f(x)| <$

$\frac{2(n+1)^2}{n^3}$ for $2 \leq n \leq x < n+1$. Hence,

$$\limsup_{x \rightarrow \infty} \left(\sup_{x < u < \lambda(x)} |f(u) - f(x)| \right) \leq \lim_{n \rightarrow \infty} \frac{2(n+1)^2}{n^3} = 0.$$

For real-valued f , we have the following corresponding result of Theorem 3.1, in which (3.1) and (3.1*) are replaced by the combination of (3.4) and (3.4*):

$$(3.4) \quad \sup_{\lambda \in D_+^n} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{x < u < \lambda(x)} (f(u) - f(x)) \right) \right\} \geq 0,$$

$$(3.4^*) \quad \sup_{\lambda \in D_-^n} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{\lambda(x) < u < x} (f(x) - f(u)) \right) \right\} \geq 0.$$

Theorem 3.2. *Let f be real-valued. If $f(x) \xrightarrow{st} l$ and one of (3.4)-(3.4*) holds, then $f(x) \rightarrow l$.*

Proof. It is easy to see that (3.4) \iff (3.4*). By (3.4), we have the following fact instead of (3.2):

$$(3.5) \quad \min(x_1, \dots, x_n) \geq N_1 \implies \inf_{x < u < \lambda(x)} (f(u) - f(x)) > -\epsilon.$$

The proof of Theorem 3.1 with this change leads us to

$$-\epsilon < \inf_{x < u < \lambda(x)} (f(u) - f(x)) \leq (f(u^*) - l) - (f(x) - l) < \epsilon - (f(x) - l),$$

where u^* is defined there. This implies $\sup_{\min(x_1, \dots, x_n) \geq N_0} (f(x) - l) \leq 2\epsilon$, and therefore, $\limsup_{x \rightarrow \infty} (f(x) - l) \leq 0$. To replace (3.4) by (3.4*), we see that a similar proof to the above also lead us to $\liminf_{x \rightarrow \infty} (f(x) - l) \geq 0$. Therefore, $f(x) \rightarrow l$. ■

Theorem 3.2 is an integral analogue of [2, Theorem 2.3]. It generalizes [14, Theorem 1]. The same functions f and λ given after Theorem 3.1 indicate that the λ in (3.4) (respectively (3.4*)) can not be relaxed to those with equality sign instead of the inequality sign in (2.4) (respectively (2.4*)).

4. TAUBERIAN CONDITIONS FROM $f(x) \xrightarrow{st} l$ (\overline{N}, ω) TO $f(x) \xrightarrow{st} l$

The (\overline{N}, ω) summability can be related to the original convergence by the use of controlling the magnitudes of $M_\lambda^+ f(x; \omega)$ and $M_\lambda^- f(x; \omega)$, which are defined below:

$$\begin{aligned} & M_\lambda^+ f(x; \omega) \\ &= (\Delta_\lambda^1 W(x))^{-1} \int_{[x_1, \lambda_1(x_1)] \times \dots \times [x_n, \lambda_n(x_n)]} f(y) \omega(y) dy - f(x) \\ &= (\Delta_\lambda^1 W(x))^{-1} \int_{[x_1, \lambda_1(x_1)] \times \dots \times [x_n, \lambda_n(x_n)]} (f(y) - f(x)) \omega(y) dy \quad (\lambda \in st-D_+^n(\omega)), \end{aligned}$$

$$\begin{aligned}
 & M_{\lambda}^{-} f(x; \omega) \\
 &= f(x) - (\Delta_{\lambda}^1 W(x))^{-1} \int_{[\lambda_1(x_1), x_1] \times \dots \times [\lambda_n(x_n), x_n]} f(y) \omega(y) dy \\
 &= (\Delta_{\lambda}^1 W(x))^{-1} \int_{[\lambda_1(x_1), x_1] \times \dots \times [\lambda_n(x_n), x_n]} (f(x) - f(y)) \omega(y) dy \quad (\lambda \in st-D_{-}^n(\omega)).
 \end{aligned}$$

The following is an integral analogue of [1, Theorem 3.2]. It generalizes [5, Theorem 2].

Theorem 4.1. *Let $f(x) \xrightarrow{st} l$ (\overline{N}, ω). The following four assertions hold:*

(i) *Suppose $st-D_{+}^n(\omega) \neq \emptyset$. Then $f(x) \xrightarrow{st} l$ if and only if for all $\epsilon > 0$,*

$$(4.1) \quad \inf_{\lambda \in st-D_{+}^n(\omega)} \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \dots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, |M_{\lambda}^{+} f(x; \omega)| \geq \epsilon \right\} \right| = 0.$$

(ii) *Suppose $st-D_{-}^n(\omega) \neq \emptyset$. Then $f(x) \xrightarrow{st} l$ if and only if for all $\epsilon > 0$,*

$$(4.1^*) \quad \inf_{\lambda \in st-D_{-}^n(\omega)} \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \dots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, |M_{\lambda}^{-} f(x; \omega)| \geq \epsilon \right\} \right| = 0.$$

(iii) *Condition (4.1) can be replaced by $M_{\lambda}^{+} f(x; \omega) \xrightarrow{st} 0$ for some $\lambda \in st-D_{+}^n(\omega)$, and condition (4.1*) can be replaced by $M_{\lambda}^{-} f(x; \omega) \xrightarrow{st} 0$ for some $\lambda \in st-D_{-}^n(\omega)$.*

(iv) *Moreover, if $M_{\lambda}^{+} f(x; \omega) \xrightarrow{st} 0$ holds for some $\lambda \in st-D_{+}^n(\omega)$, then it holds for all $\lambda \in st-D_{+}^n(\omega)$. The same situation happens to $M_{\lambda}^{-} f(x; \omega) \xrightarrow{st} 0$ with $\lambda \in st-D_{-}^n(\omega)$.*

Proof. Consider (i). Assume that $f(x) \xrightarrow{st} l$. Let $\lambda \in st-D_{+}^n(\omega)$. From (2.8) and the linearity of the statistical convergence, we get

$$\begin{aligned}
 M_{\lambda}^{+} f(x; \omega) &= \left(\Delta_{\lambda}^1 W(x) \right)^{-1} \int_{[x_1, \lambda_1(x_1)] \times \dots \times [x_n, \lambda_n(x_n)]} f(y) \omega(y) dy - f(x) \\
 &\xrightarrow{st} l - l = 0.
 \end{aligned}$$

Hence, (4.1) follows. For the converse, write $f(x) = \tilde{M}_{\lambda}^{+} f(x; \omega) - M_{\lambda}^{+} f(x; \omega)$, where

$$\tilde{M}_{\lambda}^{+} f(x; \omega) = \left(\Delta_{\lambda}^1 W(x) \right)^{-1} \int_{[x_1, \lambda_1(x_1)] \times \dots \times [x_n, \lambda_n(x_n)]} f(y) \omega(y) dy.$$

We have

$$\begin{aligned} & \{x : \mathbf{0} \leq x \leq \mathbf{a}, |f(x) - l| \geq \epsilon\} \\ & \subseteq \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, |\tilde{M}_\lambda^+ f(x; \omega) - l| \geq \frac{\epsilon}{2} \right\} \cup \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, |M_\lambda^+ f(x; \omega)| \geq \frac{\epsilon}{2} \right\}. \end{aligned}$$

By (2.8) and (4.1), we infer that $f(x) \xrightarrow{st} l$. This completes the proof of (i). The above argument also verifies both of the first parts in (iii) and (iv). As for $\lambda \in st-D_-^n(\omega)$, it can be carried out in a similar way. We leave it to the readers. ■

Theorem 4.1 indicates that any of (4.1) and (4.1*) is a Tauberian condition from $f(x) \xrightarrow{st} l (\overline{N}, \omega)$ to $f(x) \xrightarrow{st} l$. However, the example that $f(x) = 1$ for $x_1 = \cdots = x_n > 0$ and 0 otherwise tells us that it is no longer the case, whenever “ $f(x) \xrightarrow{st} l$ ” is replaced by $f(x) \rightarrow l$. It is easy to see that for such f , (4.1) and (4.1*) hold, $f(x) \xrightarrow{st} 0 (\overline{N}, \omega)$, $f(x) \xrightarrow{st} 0$, but $f(x) \not\rightarrow 0$.

For real-valued f , we have the following analogue of Theorem 4.1. It is an integral analogue of [1, Theorem 4.1] and generalizes [5, Theorem 1].

Theorem 4.2. *Let $f(x) \xrightarrow{st} l (\overline{N}, \omega)$, where f and ω are real-valued, $st-D_+^n(\omega) \neq \emptyset$, and $st-D_-^n(\omega) \neq \emptyset$. Then $f(x) \xrightarrow{st} l$ if and only if both of (4.2)-(4.2*) are satisfied for all $\epsilon > 0$:*

$$(4.2) \quad \inf_{\lambda \in st-D_+^n(\omega)} \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \cdots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, M_\lambda^+ f(x; \omega) \leq -\epsilon \right\} \right| = 0$$

and

$$(4.2^*) \quad \inf_{\lambda \in st-D_-^n(\omega)} \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \cdots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, M_\lambda^- f(x; \omega) \leq -\epsilon \right\} \right| = 0.$$

Proof. Suppose $f(x) \xrightarrow{st} l$. Let $\epsilon > 0$. For $\lambda \in st-D_+^n(\omega)$, we have

$$\{x : \mathbf{0} \leq x \leq \mathbf{a}, M_\lambda^+ f(x; \omega) \leq -\epsilon\} \subseteq \{x : \mathbf{0} \leq x \leq \mathbf{a}, |M_\lambda^+ f(x; \omega)| \geq \epsilon\}.$$

By Theorem 4.1, (4.2) holds. A similar argument also applies to (4.2*). Conversely, assume that both of (4.2) and (4.2*) hold. Write $f(x) - l = (\tilde{M}_\lambda^+ f(x; \omega) - l) - M_\lambda^+ f(x; \omega)$, where $\tilde{M}_\lambda^+ f(x; \omega)$ is defined in the proof of Theorem 4.1. By (4.2) and (2.8), for $\epsilon > 0$ and $\delta > 0$, there exists $\lambda \in st-D_+^n(\omega)$ such that

$$(4.3) \quad \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \cdots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, M_\lambda^+ f(x; \omega) \leq -\frac{\epsilon}{2} \right\} \right| < \delta$$

and

$$(4.4) \quad \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \cdots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, \tilde{M}_\lambda^+ f(x; \omega) - l \geq \frac{\epsilon}{2} \right\} \right| = 0.$$

Putting (4.3)-(4.4) together first and then letting $\delta \searrow 0$ yields

$$(4.5) \quad \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \cdots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, f(x) - l \geq \epsilon \right\} \right| = 0.$$

On the other hand, consider the expression $f(x) - l = (\tilde{M}_\lambda^- f(x; \omega) - l) + M_\lambda^- f(x; \omega)$, where

$$\tilde{M}_\lambda^- f(x; \omega) = \left(\Delta_\lambda^1 W(x) \right)^{-1} \int_{[\lambda_1(x_1), x_1] \times \cdots \times [\lambda_n(x_n), x_n]} f(y) \omega(y) dy.$$

To modify the above proof by changing (4.2) and (2.8) to (4.2*) and (2.8*), respectively, we see that

$$(4.6) \quad \limsup_{\mathbf{a} \rightarrow \infty} \frac{1}{a_1 a_2 \cdots a_n} \left| \left\{ x : \mathbf{0} \leq x \leq \mathbf{a}, f(x) - l \leq -\epsilon \right\} \right| = 0.$$

Putting (4.5) and (4.6) together, we get $f(x) \xrightarrow{st} l$. This completes the proof. ■

5. TAUBERIAN CONDITIONS FROM $f(x) \xrightarrow{st} l (\overline{N}, \omega)$ TO $f(x) \rightarrow l$

We have seen in §4 that (4.1) and (4.1*) are not Tauberian conditions of (1.2). The purpose of this section is to find conditions under which such an implication holds. Consider the following slow oscillation conditions:

$$(5.1) \quad \inf_{\lambda \in st-D_+^n(\omega)} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{x < u < \lambda(x)} |f(u) - f(x)| \right) \right\} = 0$$

and

$$(5.1^*) \quad \inf_{\lambda \in st-D_-^n(\omega)} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{\lambda(x) < u < x} |f(x) - f(u)| \right) \right\} = 0.$$

Clearly, (5.1) \implies (3.1) and (5.1*) \implies (3.1*). For $\omega \in st\text{-SVA}$ (see §6 for the definition), we have (1.4) \implies (5.1) and (1.4) \implies (5.1*). The following is an integral analogue of [2, Corollary 2.2]. Our result not only extends [6, Corollary 2] and [12, Corollary 2] from 1-dimensional case to n -dimensional case, but also relaxes the (\overline{N}, ω) summability to its statistical version.

Theorem 5.1. *Let $f(x) \xrightarrow{st} l$ (\overline{N}, ω) , where $\omega \geq 0$. If $st-D_+^n(\omega) \neq \emptyset$ (respectively $st-D_-^n(\omega) \neq \emptyset$) and (5.1) (respectively (5.1*)) holds, then $f(x) \rightarrow l$.*

Proof. We show the case of (5.1) and leave (5.1*) to the readers. It is clear that

$$|M_\lambda^+ f(x; \omega)| \leq \sup_{x < u < \lambda(x)} |f(u) - f(x)|.$$

Thus, (5.1) \implies (4.1). By Theorem 4.1(i), $f(x) \xrightarrow{st} l$. Putting this with Theorem 3.1, we get the desired result. \blacksquare

Next, assume that f and ω are real-valued. Instead of (5.1)-(5.1*), we consider the following slow decrease conditions:

$$(5.2) \quad \sup_{\lambda \in st-D_+^n(\omega)} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{x < u < \lambda(x)} (f(u) - f(x)) \right) \right\} \geq 0$$

and

$$(5.2^*) \quad \sup_{\lambda \in st-D_-^n(\omega)} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{\lambda(x) < u < x} (f(x) - f(u)) \right) \right\} \geq 0.$$

It is clear that (5.2) \implies (3.4) and (5.2*) \implies (3.4*). The following is an integral analogue of [2, Corollary 2.4]. It extends [6, Corollary 1] and [12, Corollary 1] from 1-dimensional case to n -dimensional case, and relaxes the (\overline{N}, ω) summability to its statistical version.

Theorem 5.2. *Let f be real-valued. Assume that $f(x) \xrightarrow{st} l$ (\overline{N}, ω) and (5.2)-(5.2*) hold, where $\omega \geq 0$, $st-D_+^n(\omega) \neq \emptyset$, and $st-D_-^n(\omega) \neq \emptyset$. Then $f(x) \rightarrow l$.*

Proof. The inequality

$$M_\lambda^+ f(x; \omega) \geq \inf_{x < u < \lambda(x)} (f(u) - f(x)),$$

where $\omega \geq 0$, shows the fact that (5.2) \implies (4.2). Similarly, (5.2*) \implies (4.2*). By Theorem 4.2, $f(x) \xrightarrow{st} l$. We have (5.2) \implies (3.4) and (5.2*) \implies (3.4*), so Theorem 3.2 ensures that $f(x) \rightarrow l$. \blacksquare

6. OTHER TAUBERIAN CONDITIONS

In §3-§5, the Tauberian conditions introduced there involve the classes: \mathcal{S}_I , D_+^n , D_-^n , $st-D_+^n(\omega)$, and $st-D_-^n(\omega)$. We have

$$st-D_+^n(\omega) \subseteq D_+^n \subseteq \mathcal{S}_I \quad \text{and} \quad st-D_-^n(\omega) \subseteq D_-^n \subseteq \mathcal{S}_I.$$

In the following, we shall further investigate the subclasses of $st-D_+^n(\omega)$ and $st-D_-^n(\omega)$, and then derive new types of Tauberian conditions.

Following [1, 2, 3], we write $\omega \in st-SVA$ if $\omega(x) = \omega_1(x_1) \cdots \omega_n(x_n)$ and

$$st\text{-}\liminf_{t \rightarrow \infty} \left| \frac{W_k(\rho t)}{W_k(t)} - 1 \right| > 0 \text{ for all } \rho > 0 \text{ with } \rho \neq 1 \quad (k = 1, \dots, n),$$

where $W_k(t) = \int_0^t \omega_k(z) dz$. For the definition of “ $st\text{-}\liminf$ ”, we refer the readers to [7, 11]. It is obvious that $st-SVA$ is the n -dimensional statistical version of SVA defined in [1, 2, 3]. For $\omega \in st-SVA$,

$$st-D_+^n(\omega) \supseteq \{\lambda_\rho : \rho > 1\} \text{ and } st-D_-^n(\omega) \supseteq \{\lambda_\rho : 0 < \rho < 1\},$$

where λ_ρ denotes the mapping $x \mapsto \rho x$. Moreover, the following result is true.

Corollary 6.1. *We have (1.4) \implies (5.1) \implies (3.1) and (6.1) \implies (5.1*) \implies (3.1*), where $\omega \in st-SVA$ and*

$$(6.1) \quad \inf_{0 < \rho < 1} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{\rho x < u < x} |f(x) - f(u)| \right) \right\} = 0.$$

Hence, the conclusions of Theorems 3.1 and 5.1 remain true, if the Tauberian conditions involved there are replaced by any of (1.4) and (6.1).

It is easy to see that for $\rho > 1$,

$$(6.2) \quad \sup_{x < u < \rho x} |f(u) - f(x)| \leq \sup_{x < u < \rho x} \left(\sum_{k=1}^n |\tilde{f}(x, k, u) - \tilde{f}(x, k + 1, u)| \right) \\ \leq \sum_{k=1}^n \sup_{y \geq x} \left(\sup_{\substack{y_k < v_k < \rho y_k \\ v_\ell = y_\ell \text{ for } \ell \neq k}} |f(v) - f(y)| \right),$$

where $\tilde{f}(x, k, u) = f(x_1, \dots, x_{k-1}, u_k, u_{k+1}, \dots, u_n)$. This leads us to the following consequence of Corollary 6.1.

Corollary 6.2. *We have (1.3) \implies (1.4) and (6.3) \implies (6.1), where*

$$(6.3) \quad \inf_{0 < \rho < 1} \left\{ \limsup_{x \rightarrow \infty} \left(\sup_{\substack{\rho x_k < u_k < x_k \\ u_\ell = x_\ell \text{ for } \ell \neq k}} |f(x) - f(u)| \right) \right\} = 0 \quad (k = 1, \dots, n).$$

Hence, for $\omega \in st-SVA$, the conclusions of Theorems 3.1 and 5.1 remain true, if the Tauberian conditions involved there are replaced by any of (1.3) and (6.3).

It should be noticed that (1.3) \iff (6.3). Moreover, Corollary 6.2 is an integral analogue of [2, Corollaries 3.1 & 3.2] for Schmidt-type condition. Our result extends [9, Corollary 3], [14, Theorem 4] and [15, Corollary 3] from $\omega_k = 1$ to general ω , and relaxes the (\overline{N}, ω) summability to its statistical version.

For $\rho > 1$ and $x_k < s < \rho x_k$, set

$$f^*(x, k, s) = f(x_1, \dots, x_{k-1}, s, x_{k+1}, \dots, x_n).$$

By the Mean-Value Theorem, there exists $t \in (x_k, s)$ such that

$$\begin{aligned} |f^*(x, k, s) - f(x)| &\leq 2t \left| \left(\frac{\partial f}{\partial x_k} \right)^* (x, k, t) \right| (\rho - 1) \\ &\leq 2M(\rho - 1) \quad \text{for } \min(s, x_1, \dots, x_n) \geq N_0, \end{aligned}$$

where M is a suitable constant satisfying

$$(6.4) \quad s \left| \left(\frac{\partial f}{\partial x_k} \right)^* (x, k, s) \right| \leq M \quad (\min(s, x_1, \dots, x_n) \geq N_0; k = 1, \dots, n).$$

Hence, Corollary 6.2 has the following consequence.

Corollary 6.3. *We have (6.4) \implies (1.3). Hence, for $\omega \in st\text{-SVA}$, the conclusions of Theorems 3.1 and 5.1 remain true, if the Tauberian conditions involved there are replaced by (6.4).*

Corollary 6.3 is an integral analogue of [2, Corollaries 3.1 & 3.2] for the Hardy-type condition. It extends [9, Corollary 4] and [14, Corollary 4] from $\omega_k = 1$ to general ω , and relaxes the (\overline{N}, ω) summability to its statistical version.

For real-valued f , the Tauberian conditions (1.4) and (6.1) are replaced by (6.5) and (6.5*), stated below:

$$(6.5) \quad \sup_{\rho > 1} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{x < u < \rho x} (f(u) - f(x)) \right) \right\} \geq 0,$$

$$(6.5^*) \quad \sup_{0 < \rho < 1} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{\rho x < u < x} (f(x) - f(u)) \right) \right\} \geq 0.$$

Like Corollary 6.1, we have the following result.

Corollary 6.4. *Let f be real-valued. Then (6.5) \implies (5.2) \implies (3.4) and (6.5*) \implies (5.2*) \implies (3.4*), where $\omega \in st\text{-SVA}$. Hence, the conclusions of Theorems 3.2 and 5.2 remain true, if the Tauberian conditions involved there are replaced by (6.5) and (6.5*), respectively.*

For real-valued f , (6.2) is changed to

$$\inf_{x < u < \rho x} (f(u) - f(x)) \geq \sum_{k=1}^n \inf_{y \geq x} \left(\inf_{\substack{y_k < v_k < \rho y_k \\ v_\ell = y_\ell \text{ for } \ell \neq k}} (f(v) - f(y)) \right).$$

This lead us to the following consequence of Corollary 6.4.

Corollary 6.5. *Let f be real-valued. Then (6.6) \implies (6.5) and (6.6*) \implies (6.5*), where*

$$(6.6) \quad \sup_{\rho > 1} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{\substack{x_k < u_k < \rho x_k \\ u_\ell = x_\ell \text{ for } \ell \neq k}} (f(u) - f(x)) \right) \right\} \geq 0 \quad (k = 1, \dots, n),$$

$$(6.6^*) \quad \sup_{0 < \rho < 1} \left\{ \liminf_{x \rightarrow \infty} \left(\inf_{\substack{\rho x_k < u_k < x_k \\ u_\ell = x_\ell \text{ for } \ell \neq k}} (f(x) - f(u)) \right) \right\} \geq 0 \quad (k = 1, \dots, n).$$

Hence, for $\omega \in st\text{-SVA}$, the conclusions of Theorems 3.2 and 5.2 remain true, if the Tauberian conditions involved there are replaced by (6.6) and (6.6*), respectively.

Conditions (6.6) and (6.6*) are known as Landau-type conditions. The readers can check that (6.7) implies both of (6.6) and (6.6*), where

$$(6.7) \quad s \left\{ \left(\frac{\partial f}{\partial x_k} \right)^* (x, k, s) \right\} \geq -M$$

$$(\min(s, x_1, \dots, x_n) \geq N_0; k = 1, \dots, n),$$

where $N_0 > 0$ and $M > 0$ are suitable constants. This gives the following result.

Corollary 6.6. *Let f be real-valued. Then (6.7) \implies (6.6) and (6.7) \implies (6.6*). Hence, for $\omega \in st\text{-SVA}$, the conclusions of Theorems 3.2 and 5.2 remain true, if the Tauberian conditions involved there are replaced by (6.7).*

Corollaries 6.5 and 6.6 are the integral analogues of [2, Corollaries 3.4 & 3.5]. Our results extend [9, Corollaries 1 & 2], [14, Theorem 3] and [15, Corollaries 1 & 2] from $\omega_k = 1$ to general ω , and relax the (\bar{N}, ω) summability to its statistical version.

REFERENCES

1. C.-P. Chen and C.-T. Chang, Tauberian theorems in the statistical sense for the weighted means of double sequences, *Taiwanese J. Math.*, **11(5)** (2007), 1327-1342.

2. C.-P. Chen and C.-T. Chang, Tauberian conditions under which the original convergence of double sequences follows from the statistical convergence of their weighted means, *J. Math. Anal. Appl.*, **332(2)** (2007), 1242-1248.
3. C.-P. Chen and J.-M. Hsu, Tauberian theorems for weighted means of double sequences, *Anal. Math.*, **26** (2000), 243-262.
4. C.-P. Chen, H.-C. Wu and F. Móricz, Pointwise convergence of multiple trigonometric series, *J. Math. Anal. Appl.*, **185** (1994), 629-646.
5. Á. Fekete, Tauberian conditions under which the statistical limit of an integrable function follows from its statistical summability, *Studia Sci. Math. Hungar.*, **43(1)** (2006), 115-129.
6. Á. Fekete and F. Móricz, Necessary and sufficient Tauberian conditions in the case of weighted mean summable integrals over \mathbb{R}_+ , II, *Publ. Math. Debrecen*, **67(1-2)** (2005), 65-78.
7. J. A. Fridy and C. Orhan, Statistical limit superior and limit inferior, *Proc. Amer. Math. Soc.*, **125** (1997), 3625-3631.
8. G. H. Hardy, *Divergent Series*, 2nd ed., Chelsea Pub. Co., New York, 1991.
9. F. Móricz, Tauberian theorems for Cesàro summable double integrals over \mathbb{R}_+^2 , *Studia Math.*, **138(1)** (2000), 41-52.
10. F. Móricz, Tauberian theorems for double sequences that are statistically summable $(C,1,1)$, *J. Math. Anal. Appl.*, **286** (2003), 340-350.
11. F. Móricz, Statistical limits of measurable functions, *Analysis*, **24** (2004), 1-18.
12. F. Móricz, Necessary and sufficient Tauberian conditions in the case of weighted mean summable integrals over \mathbb{R}_+ , *Math. Inequal. Appl.*, **7(1)** (2004), 87-93.
13. F. Móricz, Strong Cesàro summability and statistical limit of double Fourier integrals, *Acta Sci. Math. (Szeged)*, **71** (2005), 159-174.
14. F. Móricz, Statistical extensions of some classical Tauberian theorems in nondiscrete setting, *Colloq. Math.* **107(1)** (2007), 45-56.
15. F. Móricz and Z. Németh, Tauberian conditions under which convergence of integrals follows from summability $(C, 1)$ over \mathbb{R}_+ , *Anal. Math.*, **26(1)** (2000), 53-61.
16. F. Móricz and U. Stadtmüller, Summability of double sequences by weighted mean methods and Tauberian conditions for convergence in Pringsheim's sense, *Int. J. Math. Math. Sci.*, **65-68** (2004), 3499-3511.
17. W. Rudin, *Real and Complex Analysis*, 3rd ed., McGraw-Hill, New York, 1987.
18. W. Rudin, *Principles of Mathematical Analysis*, 3rd ed., McGraw-Hill, New York, 1976.

Chang-Pao Chen
Department of Applied Mathematics,
Hsuan Chuang University,
Hsinchu 30092,
Taiwan
E-mail: cpchen@wmail.hcu.edu.tw

Chi-Tung Chang
Department of Mathematics,
National Tsing Hua University,
Hsinchu 300,
Taiwan
E-mail: d937208@oz.nthu.edu.tw